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>dp[i][j] : Rl~iSARZIEA TRIEXDIFEIDSEETZj(CTED
> #JHA4L : dp[0][0] = 1, dp[0][j] = O (5#0)
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> B dp[i]l[j] = 1785, dp[i+1][j] = dp[i+1][j+w,;.] =1
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int dp[1001][1001]; // 0 CIEHHTH <
dp[@][@] =
for(int i=0;i<n;i++){
// r.-r DZIKL%u}u@i_C(LEL/%T:—[}BH%FEﬁ
for(int j=0;j+w;,=r -rq;j++){
if(dp[i][j] == @) continue;
dp[i+1][]J] = dp[i+1][J+w;,,] = 1]
}
}
int maxWrite = @; // F5EEIICEITDIRIELDEARAE
for(int i=0;i=r -rg;i++){
if(dp[n][i] == 1) maxWrite = i;
}
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J&EE © 591T(1265B), C++
E3# : 5447(1283B), C++
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